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| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each |
| sentence. Then mark the answer on your answer sheet.

1-  You’d better check out the ———-——- before deciding whether to go to a nearby college.
1) components 2) foundations 3) reflections * 4) alternatives
2-  The workers have still not been for their loss of wages.
1) perceived 2) established 3) compensated 4) maintained
3- By the age of twenty, she had already -——--—- fame and wealth. '
. 1) achieved 2) confined 3) compiled 4) restored
4- In all parts of the U.S. there is —- rainfall except near the rocky mountains.
1) suitable 2) acceptable 3) adequate = 4) widespread
5-  Health education programs are starting to people’s eating habits.
1) deviate 2) influence 3) implement 4) fluctuate
Witsky’s article describes the authority of a leader’s behavior.
1) dimension 2) resolution 3) conformity 4) consequence
7- - The government will examine the advantages of the teaching methods used in
schools. | -
1) discrete 2) various 3) adjacent ~ 4) incompatible
8- Clouds can be into family groupings according to their height and shape.
1) specified 2) registered 3) classified . 4) distributed
9- I was amazed at Sam’s lack of about singing in public.
1) inhibition 2) simulation 3) manipulation 4) contradiction
10- Freud was very interested in the of people’s dreams.
1) regulation - 2) coordination 3) intervention 4) interpretation

A little more than a hundred years ago, a number of European scholars began to record stories

(11) -==-----=- told in peasant cottages and compile them (12) ~==-=-=s--- the first great collections of
European folk tales. (13) ---------- - evidence exists to prove that the folk tales they recorded existed
long before then, (14) -------—--- . Collections of sermons from the 12th to the 15th century show that
medieval preachers knew of some of the same stories (15) -------—-- by the 19th century folklorists.

11- 1) that © 2) were 3) which 4) being

12- 1) for 2) into 3) from | 4) within

13-. 1) To write 2) Written 3) They wrote - 4) Writing

14- 1) yet 2) too 3) though 4) perhaps

15- 1) for being recorded 2) like those 3) as recorded 4) as those recorded
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4). Then
mark in on your answer sheet.

The movement of surface currents pushed by the wind is intuitive: we have all seen wind ripples
on the surface of a pond. Thus the deep ocean — devoid of wind — was assumed to be perfectly
static by early oceanographers. However, modern instrumentation shows that current velocities in
deep water masses can be significant (although much less than surface speeds). In the deep
ocean, the predominant driving force is differences in density, caused by salinity and temperature
(the more saline the denser, and the colder the denser). There is often confusion over the
components of the circulation that are wind and density driven. Note that ocean currents due to
tides are also significant in many places; most prominent in relatively shallow coastal areas, tidal
currents can also be significant in the deep ocean. The density of ocean water is not globally
homogeneous, but varies significantly and discretely. Sharply defined boundaries exist between
water masses which form at the surface, and subsequently maintain their own identity within the
ocean. They position themselves one above or below each other according to their density, which
depends on both temperature and salinity. Warm seawater expands and is thus less dense than
cooler seawater. Saltier water is more dense than fresher water because the dissolved salts fill
interstices between water molecules, resulting in more mass per unit volume. Lighter water

masses float over denser ones. This is known as stable stratification. When dense water masses
are first formed, they are not stably stratified.

It is stated in the passage that...................

1) ocean currents are in some cases due to tides and density but not temperature

2) deep water masses are of much more significant velocity than surface waters

3) cool and warm seawater are of different density as they expand differently

4) wind and density can create confusion in the circulation of water components

The passage mentions that............c.......

1) wind ripples on the surface of a pond are pushed intuitively

2) the density of deep water makes its temperature go up significantly

3) current speed in deep water is partly determined by water salinity

4) oceanographers thought the ocean deep was devoid of wind

Water masses in the ocean are positioned in relation to each other based specifically on
their......cove

1) ‘volume’ 2) ‘salinity’ 3) ‘temperature’ 4) ‘density’
The passage refers to the fact that........... crsssens

1) tidal currents are particularly strong in the deep ocean

2) stable stratification and the concept of water salinity are related

3) there are not homogeneous variations in ocean sea water

4) dense water masses are fixed in certain layers upon formation

The word ‘interstices’ in the passage (underlined) is best related to a/n...........

1) ‘space’ 2) ‘mass’ 3) ‘body’ 4) ‘shape’

Sea floor spreading starts as a rift in a continental land mass, similar to the Red Sea-East Africa
Rift System today. The process starts with heating at the base of the continental crust which
causes it to become more plastic and less dense. Because less dense objects rise in relation to
more dense objects, the area being heated becomes a broad dome. As the crust bows upward,
fractures occur that gradually grow into rifts. The typical rift system consists of three rift arms at
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approximately 120 degree angles. These areas are named triple junctions and can be found in
several places across the world today. The separated margins of the continents evolve to form
passive margins. If spreading continues past this incipient stage, two of the rift arms will open
while the third arm stops opening and becomes a 'failed rift'. As the two active rifts continue to
open, eventually the continental crust is attenuated as far as it will stretch. At this point basaltic
oceanic crust begins to form between the separating continental fragments. When one of the rifts
opens into the existing ocean, the rift system is flooded with seawater and becomes a new sea.
The Red Sea is an example of a new arm of the sea. The East Africa rift was thought to be a
"failed" arm that was opening somewhat more slowly than the other two arms, but in 2005 the
Ethiopian Afar Geophysical Lithospheric Experiment reported that in the Afar region last

September, a 60 km fissure opened as wide as eight meters. During this period of initial flooding
the new sea is sensitive to changes in climate and eustasy.

It is stated in the passage that the..........cccouu.

1) density of the land mass in a rift depends on its quality of plasticity

2) base of the continental crust is plastic and dense even before the process of heating
3) heated area in the land dome on a continetal crust is of a high density

4) Red Sea-East Africa Rift System is the result of a contintental land mass rift

The passage refers to the fact that..........

1) passive margins are the consequence of the separated margins of the continents

2) rifts, in fact, end the gradual process of oceanic land formation

3) there are nearly three major typical rift systems in the world

4) triple junctions are placed at approximately 120 degree angles from each other
The passage points to the fact that...................

1) the East Africa rift is sixty kilometers wide in the Afar region

2) arift at the incipient stage may have up to three open arms

3) continental fragments evolve upon the formation of basaltic oceanic crust

4) the rift system becomes a new sea when it is flooded with seawater

The word ‘attenuate’ in the passage (underlined) is most closely related to the word

lllllllll

1) ‘rise’ 2) ‘reduce’ 3) ‘move’ 4) ‘deepen’
The word ‘eustasy’ in the passage (underlined) is basically a kind of.................

1) rush of water 2) change of sea level

3) land formation 4) evolution in rifts

The ultimate energy source for the ocean circulation (and for the atmospheric circulation) is the
sun. The amount of sunlight absorbed at the surface varies strongly with latitude, being greater at
the equator than at the poles, and this engenders fluid motion in both the atmosphere and ocean
that acts to redistribute heat from the equator towards the poles, thereby reducing the temperature
gradients that would exist in the absence of fluid motion. Perhaps three quarters of this heat is
carried in the atmosphere; the rest is carried in the ocean. The atmosphere is heated from below,
which leads to convection, the largest expression of which is the Hadley circulation. By contrast
the ocean is heated from above, which tends to suppress convection. Instead ocean deep water is
formed in polar regions where cold salty waters sink in fairly restricted areas. This is the
beginning of the thermohaline circulation. Oceanic currents are largely driven by the surface
wind stress; hence the large-scale atmospheric circulation is important to understanding the
ocean circulation, The Hadley circulation leads to Easterly winds in the tropics and Westerlies in
mid-latitudes, which creates an anticyclonic wind stress curl over the subtropical ocean. This
leads to slow equatorward flow throughout most of a subtropical ocean basin. The return flow
occurs in an intense, narrow, poleward western boundary current. Like the atmosphere, the ocean
is far wider than it is deep, and hence horizontal motion is in general much faster than vertical
motion. In the southern hemisphere there is a continuous belt of ocean, and hence the mid-
latitude westerlies force the strong Antarctic Circumpolar Current. In the northern hemisphere
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the land masses prevent this and the ocean circulation is broken into smaller gyres in the Atlantic
and Pacific basins,

The passage mentions that................
1) nearly all the heat in the atmosphere is produced by ocean currents
2) convenction is capable of heating the atmosphere from below

3) the ocean’s vertical motion is not as fast as its horizonal motion
4) the thermohaline circulation does not take place in the equator
It is stated in the passage that the................

1) direction of the ocean’s heat is generally from the eqautor towrads the poles

2) sun is provided with energy by the ocean and atmospheric circulation

3) ocean’s latitude is greater at the equator than at the poles

4) lack of fluid motion at the poles causes a reduction in temperature gradients

We may understand from the passage that.................

1) the subtropical ocean currents flow in a narrow, poleward western direction

2) atmospheric circulation is often independent from circulation in oceans

3) Westerly winds in mid-latitudes are much stronger than those in the Easterlies

4) the surface wind stress is not the only force causing oceanic currents

The passage refers to the fact that..................

1) the anticyclonic wind stress curl over the subtropical ocean is produced by the Hadley
circulation

2) the suppression of convection happens as the ocean contrasts the heat from above

3) atmospheric heat is best expressed in the the convection of the Hadley circulation

4) cold salty waters form over the polar regions are related to the Easterly winds in the tropics

The word ‘gyre’ in the passage (underlined) refers to..................
1) an ocean belt 2) oceanic masses
3) a circular pattern 4) upward currents
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